Al Of & AF & & Ml A
Sl QBB ASISXD ~ SIS
AFSI = X1
wol =% 53
Ol T A€ ool E e
SA-FB . SA(3) - MEAMY - BLS Loy plE-1 HDZ 2
29,464,090 26,304,368 3,159,722
= 13,708,373 13,496,922 211,451
s 10,000 10,000 0
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201 LEt2HH| 30,000 35,000 A5,000
01 AtRZ2lH] 30,000 35,000 A5,000
neday 20,000 25,000 25,000
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02 SIAHAEE 0 62,000 £62,000
DRHOIZEINE AHLSO0I(104)(U2HEH)
28 03 0 30,000 A 30,000
NEEE2 BNLUIINS(BSAE)
28 03 0 32,000 A 32,000
308 MXISHHSOIH 5,000 0 5,000
06 WIS EExS 5,000 0 5,000
1) BASSSANE S5 (VSSF)
5,000,000& 5,000 0 5,000
ABNES 492,661 425,483 67,178
= 16,781 16,781 0
= 61,696 61,696 0
= 54,947 54,947 0
= 359,237 292,059 67,178
215,227 174,910 40,317
2 16,781 16,781 0
S 6,300 6,300 0
i 192,146 151,829 40,317
76,177 2,177 4,000
25,730 23,730 2,000
10,000 8,000 2,000
10,000 8,000 2,000
2% 10,000,000 10,000 8,000 2,000
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BI2tO| & 24,500 22,500

DIRISY AL X 24,500 22,500

DXEZAK 42&HE 23 14,500,0008 14,500 12,500

ZAF BOUO0IEY S0 XA 37,075 33,758

= 15,600 15,600

= 21,475 18, 158

BItO| & 37,075 33,758

= 15,600 15,600

= 21,475 18,158

DINAMEE 37,075 33,758

DXRZA 2OUI0E EX3 3,317,0002 3,317 0

B2 @ ZEaM2gy X 72,613 39,613

Upre | 59,000 26,000

A2 2 bl 58,000 25,000
NS uSAASNSYTZ A2 Y

23 46,000,0008 46,000 13,000

AAHE 2 277,434 250,573

= 61,696 61,696

3 48,647 48,647

T 167,091 140,230

LSEAXNY AY 118,444 91,583

2I2H0| & 82,641 55,780

QAANEE 82,641 55,780

Do ZATE 1414 2 56,861,008 56.861 30,000




